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Second

Time:3 hrs.

2 a. List the diffEerent

neat sketch.
b.
c.

Erecting

USN

la.
b.

of chains and tape usgd ie surveying. Explain any one chain with a
.erf;::i::i-:r:+ (07 Marks)

fo the chain line, edhl#in any 2 method briefly. (06 Marks)
The line was measured rfi'ttl a 20mts chain and was found to be 1202mts.

(10 Marks)

(08 Marks)
(12 Marks)

3 a. Write short note on OPTICA{- *O 
"U*- .,r1 (06Marks)

b. Briefly, explain the neat6@, Radiation and In&kction. * '-'.1 (08 Marks)
c. What are advantages anM:sEdvantages ofpffi%he surveying? @ (06Marks)

*_q* "T 4"

" "s oil., dffiPs"

4 a. Define the following': "*qul 
* 

-:: 
'

i) Back sight ffi Fore sight iii mark iv) Elelption. (06 Marks)
b. Explain the temporary adjustmept wiTh'i:espect to levgt[i&#. (06 Marks)
c. Following staff reading were .qbseqved successively with level. The instrument was shifted

after third, iixth and eight lRadi1lg. First reading was taken on a BM of 400.00mt. Enter the
belo#tifidiog in apage o{ffifpbook and calqulatd RL at all the points. Apply AC

?:.220, 1.600,0.980,2$=W$p.860, 1.260,06Q0, 1.980, 1.040,2.680. Use Rise and Fall
,=,.giQ[hod. 6p%]tr (08 Marks)

tuiffi'" ffi*-tr lvrodule-3
5 a. What is a Co*tau"fl Explain the chcryetbristics of a contour. (12 Marks)

b. List the va1.|qp,p:tlses of contour. r *rffiF (08 Marks)

As a chee.f ifieiengttr was again measudd with 25mts chain and was found to be 12l4mts.
The 2ffis$train was 10cms too long#ind the actual lenqffi25mts. (07Marks).,.4rrri 

;:fu.F.
- -'= '2' * {'ffi:"

,0,\, OR
a. Explain how horizontall4Jffikle is measured by METHOD OF REPETITION AND

METHOD REITERATiffj " (10 Marks)

b. What are the different _components of total station? List the various uses of total station.
.d."\

-@u Module-4
"!,-l

Explain in defioil, what is "RECONNAISANCE SURVEY"?
Explain_.ffi IAL and TERRE STRIAL PHOT O GRAMMETRY.
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Lq"OR t,,l '
Explain how the analysis of s!1e It dol^t with respect tg'.thb following :

i) Soil ii) Topogrffi iii) Land forms iv)$$5te and Microclimate' (20 Marks)

"S#**'

Module;E i ' ..*=*.
List any l0 notations used in Land Surveffi] .*'-t"l* (10 Marks)

List and briefly explain different types offit.,r*"y maPs. i*'"5 (10 Marks)9a.
b.

10 For a residential building
details and also exPlain how

Plan of 3 Bed Room units is .[Refer Fig Q10]
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